MATH 2171 Test III Fall 2001

Name :

SHOW THE DETAILS OF YOUR WORK 1D :

1. Find the Laplace transform L(f) of the following functions:

(a) f(t) =3+ t*+ cos 3t;

(b) f(t) =e 'sin 2t + tsin t;

(c) f(t) =e*u(t —2) +cos® t .

(@) f(t):{t, if 0<t<4,

0, if 4 <t



2. Find f(¢t) if F(s) = L(f) equals

1 1 1

F(s) = — :
(a) F(s) 52+32+4+32—4’

3s+4 3s+4
F — .
(b) F(s) 52+ 25 + s2+6s+25"
(©) F(s) = oy
s3 — 352425’
4s — 2e73s
F _
(d) F(s) 2



3. Solve the initial-value problem

"+ 9z =60(t — 4),



4. Solve the initial-value problem

2’ — 62" + 252 = 0,



